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Choose the appropriate figure from the @hswer Fi gures to replace the question mark (?).

@@ ?
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4 308 (2) F IR IR gl & s g g

Cl}oose the appropriate figure from the Answer Figures to replace the question mark (?).

@@sOLIx#
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Frart e fera &, o e s e el 2 1 S
(a) frRe (B) EHEHH . (C) FASK (D) Hfaar
PIANO is to MUSIC, then what is to LITERATURE ? f Ly gl : :
(A) CRICKET (B) MICROPHONE  (C) ARTIST ' (D) POETRY
e A
'ﬁﬁﬁaﬁ%w:w::mﬁﬁuﬁ?;_o : Kot g :
) & B R #* o Q@ (D) %%
Complete the analogy : & b B ;
'Otitis media':'qar‘ ::'Cataracts':_g R
(A) Bone (B) Kidney ¢ (©) Eye 4 (D) Lungs
@
1HTTE, R 9F R Gu R : ©
7 is related to 49, in the same way 9 is related to : _ i
) 2 SO ©" 77, . L (D)6 _
ggfmwzmwﬁwgam@ﬁwm1somw..m@,a.-mm‘mmﬁ§gﬁ@¢
' i '{'.'.-' i f g P A CULEY PR W ¢ Sptaha
(A) iwm (B) I (C) aféor v D)@
Which Way would you face now if you turned 180 degrees to the left after starting by facing south ?
(A) West (B) North (C) "South .. (D) East
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A) 2.5% ®B) 28% ©- 30% (D) 3.5%
The given bar graph shows the marked price of five different products in a showroom.
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O Marked Price (%)

e
If the marked price of the laptop is 15% more than ftslcost price and the shopkeeper offers a discount of
10% on the marked price of the laptop, then find the ffls%ﬂt % of the laptop.

(A) 2.5% (B) 28% @ 30% (D) 3.5%

8. TV, I H SR T =TEaT & | 3 1 o Ry o A § Wt S A RS A F WA V125 kmF AR
o TSI 30T o6 SR 5 ko -0 78 | 707 1 O I R A P Ram A R 2 |
(A) or-afim (B) Iue-ufEm (C) 3fgorgd (D) ST-G&
Arun wants to go to Anu’s home. Anu’s home is 5 km North-West of Priya’s home which is
/12,5 km East of Tharun’s home. Tharun’s home is 5 km North-West of Arun’s home. In which direction
is Arun’s home from Anu’s home ? '
(A) South-West (B) North-West South-East (D) North-East

9, e v 8, st fg e wre 3wy W 3 VG RU T ¥ | S & O ek A Ry e wes % vl 77
I T T8 ST ST HehalT | 39 ¥6G I UEEe | &
f 7T w12 : "INDEPENDENCE" O .
(A) NEEDED' “" (B) INDEED (C) PEENAD. (D) DENIED
In the following question, you will find four other s provided alongside a given word. One of these
words cannot be formed using the letters of the give%:rd. Identify that word. ;
Given word : "INDEPENDENCE" : ' ey ol
(A) NEEDED (B) INDEED (C) PEENAD (D) DENIED ,

i e - o e
- - B e L T T ———————— .
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10. wﬁaﬁvﬁqaﬂwﬁmﬁwﬁqﬁmwﬁmaﬁmﬂaﬁwﬁﬂmm

11.

B/ 8 |
FA ;

. @ T20 fre A 8, A gro s T FA T 120 9

2. T 60T Rei Y am )

frey

L dmd20% R )

2. HEIHY % Soiars Ryt | :
(A) 3 Frend srger e & Q' (B) et fred 2 7T e &
(C). Tt fremd 1 s & et 2 aqgamm@% (D) et fireemd | TR e
Read the statements and select the best condlubion/conclusions that follows/follow the assumptions made
in the statements. %

Statements : ) & St

1. InaT20 cricket match, the total runs mide by a team were 120.

2. Outof these, 60 runs were made by spifer o

Conclusions :
1.  20% of the team consists of spinners.
2. The middle order batsmen were spinners. !

(A) Both the Conclusions follow (B) Only Conclusion 2 follows

(C) Neither Conclusion 1 nor Conclusion 2 follows (D) Only Conclusion 1 follows
frrferfiae & & e war 4 8 ST @ weiaR

M %NHF M, NFFR | g

M@NF M, NFI 13| [l

MS$Nwa g M, NFf@ra|

Frafafa § & SF-argay 'S, Q =1 firar 2 zarfar £ 2 |

(A) QSS@P ®) P@Q%S %’ (€) Q8P %S (D) Q@S %P

Each of the following questmns penams to the given information :
M % N means M is the son of N,

M @ N means M is the sister of N.

M $ N means M is the father of N.
Which of the following represents the relatmnshlp "S is the father of Q" T .
(A) Q$s@P (B) P@Q%S . (C) Q$P%S. D) Q@S%P

12. MG "A", ."R“, "N, “I¥, s MWWT Wmmwm@q'
Find the word that can be formed using thel "G VAR CaNR ST
(A) GRIND (B), TRAIN . (C) GEAR " (D) NIGHT
1. wmﬁwmmﬁa%aﬁwwﬁa@a ot L i
(A) s e ™Y@ © ' L (D)
Clouds are related to Rain in the same way as Air is related to : AR e
(A) Cold " (B) Wam (C) Wind (D) Dust
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19.

ﬁ@ﬁquﬂmmaﬂtﬁqﬁmw%mﬂml
O — frifmsm %

| &
[ — feem O
_ O
A = fifwen &
vt Rl sfes Ris TR R 812 ® w
A) 8 (B) 14 S ¢ (D) 17

Examine the provided diagram and respond to the following question.
O —> Employed people_

[] — Backward people

O
A_ —> Educated peoplgy

How many educated individuals are considered bickward ? ,

@A) 8 ®) 14 o 13 O 17 4

UF Haw ¥, 98 I T 6 21 e sl ane@ ved 8, ZGWﬁﬁﬁﬂWﬁﬂ-ﬁm%‘ﬁT 29 =Afth

e ST 35 W U § | 36 ST, 14 R s i R 2 e 3 wmenee e €, 15 =t

it aftc &tRr ST ST YRR S WHTER-UA TG 8, it AR St ATeT ST Yo o TR UG

3 8 ek i1 T & ST Ugd § | fhaa £f1e T 6 QU TGa & 2

In a survey, it was discovered that 21 individuals read English newspapers, 26 individuals read Hindi

newspapers, and 29 individuals read regional language newspapers. Furthermore, 14 individuals read both

English and Hindi newspapers, 15 individuals read both Hindi and regional language: newspapers,

12 individuals read both English and regional language newspapers, and 8 individuals read all three types

of newspapers. How many people read only regional language newspapers ?. .

(4) 10 ®) 12 © 14 (D)8 - %

T HE 1 i | ' v il

Find the missing number. - T
13,1, 17, 7,21

® 9 ®) 7 &

T e @i |

Find the missing pattern. -,

C22D, , C6D4, C58D, C106D '® ; : :

(A) C#3D, . (B) C2C3D (@ cepy. " (D) _czczn

af% alb=a—b, F&t TFW, p=6 sﬂtq-4€ﬁqrp qF A HR?

If alb=a—b, what is the value of p q if p=6 and q=4 ? ;

(A) 2 (B) 1 (©), 10 . D) 8

W?%mﬁfﬁ%m% P T & S ) & Qe e e ST 8 1 5 O
afFIg?

(A) Tor§ 1 feaforen e WA M T U (B) P mﬁmﬁﬁgﬁ@nm% |

(©) wfafia wars sft et  rom Bt & (D) Seforeh sl Tfati @

A teacher tells her students, "Studying regularly leads to, better academic performance." What is the

implied meaning of this statement ?

(A) Studying has no effect on academic performance (B) Regular study habits i improve grades '
(C) Irregular studying is equally effective « (D) Academic performance is random

©. 1. .. D)5
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20. T 40 Wiz 17 : 3 3 o it g ot aei ¥ | g 5 ot gy v e, o fa i gy o
T} 6T AT 7 : 1 B S & | T g e T gur shi w febeedt oft 2 A
(A) 8t B) 6 () 4d (D) 127
40 litres of a mixture contains milk and water in the ratib of 17 : 3. After the addition of some more milk to
it, the ratio of milk to water in the resulting mixture befbmes 7 : 1. The quantity of milk added to it was
(A) 8 litres (B) 6 litres (F)] 4 litres (D) 12litres .
21, TTad I HIa F 20% i FH T e B € 8,000 7 lmmamaﬂzﬁ%gwméla’rmm
STRFreh S5 i feetomet feeT & 2
A reduction of 20% in the price of rice enables a cus@ner to purchasc 125 kg more for T 8,000. What is
the original price of rice per kg ? ®
(A) T16 (B) TI2 (C) %15 (D) 14
22, O GETel 1 3E 30 § | TRl 5 SRl  oivea 25 ¥ 3 sifem 3 demnsi v aita 35 8 | ) ot g
29
The average of 9 numbers lS 30. The average of the first 5 numbers is 25 and that of the last
3 numbers is 35. What is the 6 number ?
(A) 30 (B) 40 (©) 50 . (D) 20
23. A 3R B 3ftwa mifte TR 1400 2, Bﬁtcaﬁraﬂ@mﬁﬁi?ﬂmflﬁo%ﬁlAaﬂTCﬁaﬁuﬁmﬁm
AT 1440 B | 1 C Y Wil TR AR 2 3%
The average monthly income of A and B is ¥ 1400, tha{?f B and C is ¥ 1560 and of A and C is ¥ 1440. The
monthly income of C is _ ' : =y
(A) T1500 (B) T1400 (© T1550 (D) T 1600
24. 42 3R 49 i FEARA H TH.I(LCM) SR HHT(HCEY 6T A0 F1 8 2
The LCM and HCF of the numbers 42 and 49 are in thgyratio of '
(A) 7:2 (B) 42:1- (@ 2:7 (D)S 6
25. U {OTS! UHEHH 916 @ S0 §U, 240 HI T T ﬁloﬁwﬁwmﬁ%w@mﬁe
I 6 UHIE | IR Fell © | o (el ol el AT Tt =Tt Jia hIforg | -
(A) 300%, 180femftler (B) 3007, 150 feeiar
(C) 2007, 50 ferfieien | - (D) 3604t 216 fersi/eer
A train travelling at a uniform speed, clears a platform 240 meters long in 10 seconds and passes a
telegraph post in 6 seconds. Find the length of the train and its speed.
(A) 300 m, 180 km/hr (B) 300 m, 150 km/hr
(C) 200 m, 50 km/hr . 360 m, 216 km/hr
26. 90 Ferwi/ever i =Ter & Ta W 35 Hiet ot @l g %@@tﬁaﬁmmﬁmmm%‘?
(A) 1.93Fs (B) 1.4 ¥avs (@Y 58w (D) 1.8%ve
The time taken by a frain 35 m long, running at 90 , in crossing anelectric pole is
(A) 1.9 seconds (B) l.4seconds (€ 5seconds ;1 (D) 1.8seconds
27, O M o TR AT T e 3 T 52 o R mﬁ&rmaﬂaﬁé\aﬁnmmﬁmﬂm&ﬁm
it 3 T 50 o, 3 Wi et s SR T o 2
The average salary of male employees in a firm was ¥ 52 and that of female employees was T42. If the
mean salary of the employees was %50, what was the percentage of Ifemaln\a employees ?
(A) 20% B)g 88% ; 1O730% = (D) .86%
28. uﬁﬁﬁmaﬁrs % AT 3 = %wﬁmw% 24,200 Wq@aﬁﬁaﬁaﬂzﬁaﬁmﬁﬁﬁwﬁ
Wﬁm%o | i ”': !
- If the sales tax be reduced from 3 ; %to 3 ; %, what difference does xt make to a person who purchases an
article whose marked price is ¥ 4,200 ? | .
(A) T6 -~ (B) 7 " (C) 10 B PR s, |
SiT: 0 A S e, Page 6 of 24 '
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P,QaRR G 2.3, 2 35 ST e s et S B 14 Y o, B o

2 g A
i 50% 1 3 1, AT Q F 31t G5 A 20% A FR A | v e A F 3T H 228,210 FFwamr it @
e TR 2
P, Q and R enter into a partnership by investing their capitals in the ratio of % : -j: : ~g— After
4 months, P increased his capital by 50%, but Q decreased his capital by 20%. What is the share of Q in
the total profit of ¥ 28,210 at the end of a year ? ) '
(a) ¥10,140 (B) T10075 (5 (C) 83,200 (D) 97,500
0, T A T et 1 SR 15 14 R, S st & 2
The ratiozof cost price and selling price is 1514, then the loss percent is ;
(&) 163% (B%, 40% o © s% ' (D) 63%
10 5 )
i .;- % i mrag‘aanaﬁf(LCM)i@rﬁﬁm :
: 111035 ®
Find the LCM of 36" 9° 18"
1 10 10 i 13
@ 5 ®) 7 © 3 D
32, 37,500 T 4 a6t o forw 29 wfey o o ¢ & wremer s i momr AT |
Calculate the simple interest on ¥ 37,500 at the rate of 2% per annum for 4 years.
(A) T3500 (B) T3000 . (C) T4000 (D) T5000
3. 2R 72 SF 280 HiT eft am F1 21 ﬁﬁiﬁ@aﬁ%ﬁﬁmﬁaﬁmoﬁaﬁwwmﬁ 18 f&
KU, S+
(A) 40TeH (B) 48@e*® {4 (C) 28WeH (D) 60WSH
If 72 boys can build a wall of 280 m lcngf]_r]in 21 days, how many boys would take 18 days to build a
similar type of wall of length 200 m ? -
(A) 40boys (B) 48boys ¢» (C) 28boys (D) 60 boys
M, TSI AR T W 4% A e AT 15 ST 1 e 3 T Ueh g T <l & 3 T JhR
35% 1 AT AT @ | A 10 shioi o Sifere e 3691 e & o ifererar e | '
A tradesman gives a 4% discount on the marked price and gives an article free for buying every 15 articles
and thus gains 35%. Find out by what percentage the marked price is above the cost price.
(A) 39.6% (B) 40.6% ) ©) 50% (D) 22%
35. 29 3T | iRt U e U b by 14 Rt 3 o o w8 | 4 iR 3t 2 e frer w0 8 et A
W € | 33 0 oW 1 97 7 % 600 fire €, 7t ek wfeen it o v firemn =nfew 2
2 men and 1 woman together.can complete a_piece of work in 14 days. 4 women and 2 men together can
doitin 8 days. If a man gets T 600 per day, fd‘a much should a woman get per day ? ! e
(A) T450 - " (B) %480 (0 =360 (D) T400
36. weTiET  gEr i i @lT ¥ frv s mmﬁmmﬂ@éaﬁﬁr?ﬂwﬁmaﬁﬁma@wu_wﬁ
a1 St Y e 5 20% 1 3 e 2, e g e S e w8, g e At iR s
e @ fohe wiowrg i 7 rd e '
A factory’s yearly budget for the purchase d@gmployees’ protection shoes increased by 60% this year over
last year. If the price of the shoes increased By 20% this year, then the number of shoes it can purchase this
year is what percent greater than the number of shoes it purchased last year ?
@) 33%% (B) 142% 1 ) (C) 48% ' . (D) 140%
AT e et Page T o2l A YR e
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37. T oo 8 gy o Ot o e 3 7%1aﬁmﬁwﬁmeﬁawﬁmﬁ ﬁrmwl 3 S
R 1 1 ga i ST W i i
(A) 15% B) 11dx (©) 137 (D) 10
The ratio of milk and water in a mixture is 3 : 7. If we add 10 Iltres of water to the mixture, then the ratig
becomes 1 : 3. Find the initial quantity of milk.
(A) 15 litres (B) 11 litres - (C) 13litres "1 " (D) 10 litres '
38. o i sorafs = (@i w0 & wRfm) W 4%t % o afd £ 700 2 St @ 38 a9t F 9 T 1000 )
STt & | Y ypeeTTelt e et o <
The amount of money appreciates to T 700 after E!,rears and to ¥ 1000 after 8 years at a certain compound
interest compounded annually. The initial amoul@f money was
(A) 490 (B) T410 5 (C) %430 (D) T470
39, frmfoifiea @ @ faww (eits) 0 Fifsre : ®
Find the odd one from the following :
(A) 4096 (B) 4913 (C) 5832 . (D) 3380 .
40. Tr=fifaa e i seh s i A |
Find the next number in the following series :
220, 221, 229, 256, __ : -
(A) 10 (B) 280 ©) 312 .. (D) 320 .
41 Fewea 1, I, 1 3 IV H & e odor ofa gt Ak o Xy marsmarg |
Choose the correct mirror image from alternativeg ], IT, Il and IV if the mirror is kept at XY
X
: 5
FiL o
@ i
A ®
2 o S 0|9 2 2 ol - i
I 1 THE Tl Lp s
(A) I (B) I - (©dv cries (D)X
4. ﬁg@mﬁﬁmwmﬂﬁw@%éﬁ%m ¥ | a5 =t Ry @ fhe R waftr @ 2
(A) vl (B) I Qe (C) &\ (D) s
Sindhu introduces a man as the son of the%mther of her mother. How is lhe man related to
Sindhu ? ’ :
(A) Nephew (B) Grandson ' g5 (C) ‘Cousin ™ (D) Son
43. @mﬁsmﬁﬁeﬂm@rmm%a‘r19gamﬁ@m$ﬁﬁsﬁﬁmmmaﬁm?
(A) 3% (B) 4% (©) s# (D) 2%
A car travels at a constant speed of 65 km/hr, how long will it take to cover a distance of
195 km ? - :
(A) 3hr (B) 4hr (C) Shr (D) 2hr
N o NN e, - RE L RRSREEES
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4.

“PINK” 1s :

(A) 45 (B) 33 8 60

4.
g, FetE A At |
Fm 3fven 7 @rar @ | S el wiam e |
@S 8 | e ik Sieae B U T @RS S ks
yeTey fareredl o @ 9 T EIE @It € 2 ®
. W-gRb 97 -voehe, W-gmae ©
y W -WEl, §F - S, T - afen
3. 8-S, 9 - e, W - gl
4 T, S - afe, wW-ged
3 i & A T B e § 2
(a) 133 (B) 2R3

7f2 “GREEN” %1 §&1 $1g 49 2, @ “VIOLET” aﬂt“PmK"%ﬁ@rﬁs‘i%aﬂamﬁw{; .
If the number code for “GREEN" is 49, then the difference betwcen the uumber codes of “VIOLET”

(C) 334 _
Three children, Sam, John and Ann, are eating icecream. Each child eats a different flavour from available
flavours, namely Chocolate, Strawberry, ButterscotcK.and Vanilla,

Sam does not eat Vanilla. John does not eat Straw%'erry Ann never eats Butterscotch Chocolate and

and

)
4

/

(D) 55

4 =3, AW, 5 o, mméﬁlmaﬁmﬁﬁﬁﬁwmm% AT a'ra»éz

T iﬁ@ﬁﬁla"ﬁﬁzeﬁ;mﬁ@mw

©) 234

Butterscotch are not eaten together. Vanilla and Chodolate are aten together.

Who eats what flavour from the available options ?
1. Sam - Strawberry, John — Butterscotch, Ann —
2. Sam - Strawberry, John — Chocolate, Ann — V:
3.  Sam - Butterscotch, John — Chocolate, Ann —
4.  Sam - Chocolate, John — Vanilla, Ann — Straw
Which of the above could be correct ?

(A) land3 | (B) 2and3
agmq;ﬁrgﬁqmﬁwa@ﬁrmaﬁ%a%l

ocolate
la

wberry

Choose the figure in which the question figure (X) is embedded.

C

-

v

] [

X) I

8%

®) I
9. frefiies saen sl e g A

@RsSOrI#

A m

Find the next number in the foilowing series :
140, 120, 90, 50, _
(A) 20
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f2 “GREEN” T &A1 %18 49 8, @ “VIOLET” 3R “PINK” S 4er 13t H g 77 aiatw%.'%‘.f-‘ =

If the number code for “GREEN" is 49, then the difference between the nrumbcr codes of “VIOLET” and
“PINK” is : -

(A) 45 (B) 33 8 60 “\ (D) 55

45, T, A, S ST, STEEH G TR § | Yo ST I el i § Sf E G 8, A S,
gratt, Tewha AR e | {1”, , -l
ﬂﬂ%ﬁmwﬁw%dm@aﬁﬂﬁ@m%liﬂw%w' T w | e AN T A
@S & | A ik Sieie I U WY G TR ks S
3qeTe fAFeal B 4 P T @G G ? ® : :
|, YM-_TEG, S-S, W-gme © _ ’
). AN -TRA, S -dee, W - e ' - T
3, A9, S - I, W -l
4, M-, - w-gRd

4.

sAFA AR @ BT
(A) 133 (B) 233 ©) 334 D) 234
Three children, Sam, John and Ann, are eating icecream, Each child eats a different flavour from available é

flavours, namely Chocolate, Strawberry, ButterscotcKand Vanilla.
Sam does not eat Vanilla. John does not eat Stra\i’l’)‘erry. Ann never eats Butterscotch. Chocolate and
Butterscotch are not eaten together. Vanilla and Chodolate are eaten together.

Who eats what flavour from the available options ? 2
1.  Sam - Strawberry, John — Butterscotch, Ann — Chocolate
2. Sam - Strawberry, John — Chocolate, Ann — Vanilla
3. Sam - Butterscotch, John — Chocolate, Ann — Sttawberry
4.  Sam- Chocolate, John — Vanilla, Ann — Straw
Which of the above could be correct ?
(A) 1and3 (B) 2and3 (C) 3amd4 - (D) 2and4 -
4. T IR S R v ot (X) afRa 2 | |
Choose the figure in which the question figure (X) is embedded.
. J
iy ' i
' AV 4 & = .
o -1 L A g Al
. ; . & RO -
@ 1 ®) I ev QESR W
47, frerfas e el v T AR ke R
Find the next number in the foilowing series : ' \ [ | !
|
140, 120, 90,50, -
(A) 20 : (B) 10 © 0 . (D -10
e R |
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48. HGWTFINR __ ¥, 30TCT 787 HH-8T S0 2

In the series F JN R __ which letter comes next ?

A Vv B) s

Q
49, frafafea s d sm s amd o %r'i:
W
What comes next in the following sequence ]
B,.C.E G, __ 8
&) H ®) I <
50. <Y 7S i@ H AT 19 I |
Find the next one in the given series.
Given series :
_ ¥
92
L]
(A) b4l
®
' G)

51. 2 et i Bt i de g A |

Find out the number of triangles in the given figure.

© U

© I

D) T,

(D) K

G

@)
(A) 16 ®) 10 E - (©) 20 D) 12
5. s o et ot (ST 82 L
How many rectangles are there in the chessbqagd ?
®
@ v
(A) 1296 (B) 1208 (C) 1298 (D) 100} _
T S T 1) R A A
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DPLD '

< fog e et & 8 SR e o e e

Find out the next figure in the above series from the options,

I DD P

| Il C}W
@A) I (B8) 1 i A () 18 O I
@

5, v g ol o1 s AT
Study the ﬁgures gwen below :

ﬁmmﬁa’rﬁmﬁagﬁqaﬁwﬁmﬂaﬁm@%mmwm

From the figures given below, choose the figure that will be most suitable to continue the pattern given
above : '

2]
I Il I o' a5 ( IV g
A) 1 ®@m -  © W g @)L AR £
s5. mE@ANT: i S- ol | - \
TS : TAES - A , Y Es B :
(A) FHMEFG)  (B) TBE o () Wm0 (D) ®A
Complete the analogy : N
Fish : Gills :: Human : ' _ .
(A) Liver (B) Lungs (C) Brain - (D) Heart
6. ﬁmﬁrf@aﬁ%mﬁ%ﬂ?aﬁr%aﬁﬁmaﬁmwﬁ ' _
) S B) F=m-fmr . (C) f@gﬁ:{ﬂr (D) T -&
Which of the following pairs of words are most similar in m#aning ? '
(A) Stop-Go (B) High-Low = (C) C-Smile (D) Start—Begin,

57. m@maﬁ@%m@m%mﬂm@m(@: e ST, é?mﬁrmsﬂé(@ﬂ)@fqﬁ
TSI 8, At GO SFSTesl- AT (Fhig- ST T ST T 8 e,
(A) foREe (B) W& O B (D) ek
When a cone s sliced by a plane paral]el to its base but ng@passing thmugh its apex, what is the shape of
the resulting cross-section ?

(A) Hyperbola (B) Parabola (C) Circle (D) Ellipse
58, AT HI SR TG & - ‘ '
| (A) ™ - (B) W™ (C) T (D) fAam
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59, AT T ATEETE WeE R . :
@) 3 (B) =g (C) T (D) TR
60. AT T T 7T, T 7 e o S : -
T T HART ST Q, T T HAH 9 |
TR | HH-AT SFARRE ?
(A) e (B) 3w ©) == &)
61. “forelt i werar A aTe F R uH e | %
(A) Hed (B) et (C) WK %D) T
62. o T & 0T e T A R T R 9
(A) g fore @ s ®) sty O
(© ugeirhrEmfa & gl guwdt | (D) 7 Jeh Wl 1 2 4y
63. ‘IriiEa Yoa ol Het witr-frede g ; ®
(A) =ty +T&a (B) =+ ffda (©). ¥ + Pifda D) s + i
64. Tt et vt ot SR T VTR G e e e e ST 2 2
(A) @eH (B) W
() == R wem w0 frg (D) STTHERR
65. ww fro @H Rt w2 : |
(A) EH (B) U= (©) di @)) -
66. o=t I Fraga= e e . 3
(A) T (B) wET (C) Tmwm [P) &
67. FRmwer e eEu il O
(A) REsgEr B) Frzamr (C) Ry @&P) Rewemr
68. HIT — i Y- 1 el e 9 | ® :
(A) -7 (B) WrT—aTeTTE © wTE-glt (D) TH-TR
69. ‘-l TRFW A A '
(A) YEFR-TEH (B) Wl (C) iz (D) T — W
70. T UGS | HFA-AT AR 2 .
(A) FHaT=H (B) WrEET=H (©) ﬁ'mnamr éD) Fgarsd
71. T=fafas 3 @ Hi9-a1 e qeam 78 ® 2 Y
(A) T (B), &mr © 7@ - D) W@
7. wifba ds # i S Ry s e R At 8
e it Y ATEATH FT HBTIAE | Py
(A) TETSH N FACHFITBIIAR (B) We it AT STEATH @RS I 8
(C) WEaSft F1 ATEATTH T =TI & (D) W S ! AT BT I &
73. Feffeadggamt: ; |
(A) Frequreh saftn i qve 7 fremr =1feq | (B) SIS 3 Yehee I T |
(©) & e dufRr & e et fivem | (D) s shvft forest 3 amefier o)
i N i Y | Pagediobzd . N
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ST @'Watermarkly
ﬁ’é%h 1“\_00" @ CamScanner


https://v3.camscanner.com/user/download

74, T MR R

&) (B) W (© frww
75, ‘AT sy ) |
(&) @w (B) W= O
6. sﬁwémaﬁrﬁﬂwaaﬁ%,a%wmﬁ?
(A faso B) frar O - (© forn-fdwm
77, FCZEAT R 1 3 - e .
(A) ST ‘(B) FEIMP  (C) Seam
78. ‘W’WW%: D : - \
(a) T ® st QO i (D) g
g9, Rrr FERRIT SATET| @ :
@) fgh ®fm @ gw (D dmw
g0. = 3fera form fag @md S ; .
e agddTEm A | _ . A
@ (1) ®B) (?) © ©) ®) (-) 4

81 2020 T FTS TEEHTC fore ToTTE T foar 7T 2 £ , |
(A) TIAETA  (B) WO () FNE (D) A=

g g ARy . ‘
- (A) ST fR i (B) focwsfrr —
- (©) wwE forn O . (D) 3
83. g&aﬁﬁmﬂ?{maﬁmﬁaﬂrw%‘? |
(&) st ® #wd @  (© R i i) g B DR |
84, ‘st () F R E ® ’ ;
: (A) STETFN 9 (B) THEEYF,
(©) @@ Fm (D) e yEE Bt
85. ﬁqmﬁmﬁﬁqm@amﬁﬁzﬁmﬁ%? R A e
() A7-3g B) ¥F-Iw (O HhA-IWE (D)mm

| 86. mmﬁmmm o ue e G FT /RO R -- f Citl) Il DO
A o T - FAEAY > - 2O e i 9

(A) FY@TE  (B) agaﬁfém% (C) Tq@EE (D) z‘:_qmq.- A
87. AmAdeT edFmgy, U € smbs i i e TR
(A) FiE ®w  O (o frmw (@) meda

88. fir 3 sl wiedt & it o & @ o viee e o 2 s

@) wh mw © ofw () 3T
. 89. amﬁwm%; et i ual G
(A) e (B) T (©) D) s L

Y e e T YR et
\éa*“'fu,:e
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7.8 908 94 ATV O - _

mﬂmwaﬁwmmﬁw%lﬁwﬁwﬁmmwwmﬁmhn@maa%ﬁaﬁm’mtﬁ
36 I S 9 | TSI 1 & ST S 3 | Tregre ik Sam ot Wi ST 3 | sz 3 ey ST o Wi
T T R | o 39 W AT Y i s 92t Tt # | o 6 i der ger 8 o a &
ifer T ot 1 T B, i 9 ST 39 of B et ¥ | el A @ oty ) oft B weRdt | it
e 3 ATt foeh s 3 w0 A € oo R 1 14 R, 1949 €, Y e 3 v Rt wvra e B
2 | Hfeum i ama 120 3 AR W = o ot 3 o St fovar s R | e 210 3 et et 3 e
o1 S -3 T it o 2 R aidsh 3 o e | e 343 3 st w6y o Rt o
feaf Garmnd et | < ST < sy e ST < fovw v iy e e R 1wy 344 # wepf e

f=dt v 1 v SR e S R FR AT R | 0 .
90, % =R T e T S e A |
(A) TR @) W e
(C) afEur i wrrw @) Tl s o
91, fore et wimar o fersr e st o SaTRT WS R 2 i
(A) Wt (B) T ©) Rk v v (D) W
92.  TZHTST 3 W@ TV H & §H & HH-81 TR AR 2 2 L
(A) T SH YT R (B) @ 331 ot W T &

(C) SFAT Y HISHTCHe TT R aeh ST & (D) mdifiaeard
93, Tt it sl wfdur # fopg A WA W gE 2 2

(A) 1948 (B) 1949 @) 1950 (D) 1947
P T E e S RS T |
(A) ST JTST [(B) S
(OBEIGEISEIR I ‘ (@) TS SR T
95, si@an ¥ el T J1a hifer : ®
Find the next number in the series : ®
57,43,29,15, . ® _
A 1 : ® 2 - ©) 3 (D) 0

96. i it A, B 3t C T TieR Rfean & =Rt 3R 2T 6 i § A 24 Fvs, 36 FH0g AN 30
[E T T TR T A @ | Foe e oh e & s g we fiee & fivet
4) sz - @ 6fe " U (C) 8fe . (D) 12fme
Three friends A, B and C start running around a circular stadium and complete a single round in 24
seconds, 36 seconds and 30 seconds, respectively. After how many minutes will they meet again at the
starting point ? N A
(A) 5 minutes (B) 6 minutes )’ 8 minutes | (D) 12 minutes

97, Maﬁ%ﬁ'ﬁa&mmw%u&mﬁmﬂwﬁg%mgqmﬁ%aﬂrm@ranaﬁam: 10 % STA
ﬁiﬁlﬂ ? I' ]
(A) 403 3t 44 7 : SR .8)_ 32 99 i 36 T
(C) 44748 ad - @) seadmdoad
What are the current ages of Antony and Betty if ti@ir ages are in the ratio 8 : 9 now and will be in the
ratio 9 : 10 four years from now ?

(A) 40 years and 44 years : (B) 32 years and 36 years
(C) 44 years and 48 years ' (D) 36 yearsand 40 years
AUT24 7T ISR SR el
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08. o=t afte gy qwiiy % e R YRR % =TS T WA R s @ o

99, mmmwﬁﬁM%mﬁ%Wﬁﬁﬁm%r

(A) @i (B) SR ©) T=E )
Which chart type is used to represent the {ejationship between two variables ? __
(A) Line Chart (B) Scatter Pl%t}t (C) BarChart (D) Pie Chart

ﬁﬁ@@ﬂ‘fﬁ%ﬂmméﬁﬂé%wﬁ%ﬁﬁﬁm (ST g ),

. RfFHTER o~
T [4AH | 7AH | 32AH | 35AH | S5AH ¥
1992] 75 | 144 | 114 | 102 | 108 | 543
1993 | 90 | 126 | 102 | 84 | 126 |s528
1994 | 96 | 114 | 75 | 105 | 135 |525
1995 | 105 | 90 | 150 [ 90 [CIs |swo]
1996 | 90 | 75 | 135 | 75 |90 | 465
1997 | 105 | 60 | 165 | 45 |[420 |49s
1998 | 115 | 85 | 160 | 100 945 605

pﬂma&?ﬁﬁmﬁﬂ@t@aﬁmm%&@?

(A) 4AH B) 35AH (C) SS5AH " (D) 7AH

The following table gives the sales of batteries manufaétr.uqd by a company over the years.
Number of different types of batteries sold by a company over the years (numbers in thousands), -

Types of Batteries

4AH | 7AH | 32AH | 35AH | 55AH | Total,
1992 75 | 144 | 114 | 102 | §bs [543 |
1993 [ 90 | 126 | 102 | 84 | 1426 | 528
1994 ] 96 [ 114 | 75 | 105 | @5 | 525
1995 | 105 | 90 | 150 | 90 S’; 510 |
1996 | 90 75 135 75 90 465 | + G o R £ SR -|:;|-""-" =28 1]
1997 | 105 | 60 | 165 | 45 | 120 | 495 B

1998 | 115 | 85 | 160 | 100 | 145 | 605 4

Year

Which battery has the lowest total sales across all seven years ?

(A) 4AH  (B) 35AH (C) 55AH ) 7AH

R e e e e R R R R R W W W
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101.

102.

103.

104,

105.

106.

o0, 3R M+ NFIIRIM, NFragad
M-NF M, NFTHER|

MXN#F T EM, N FA T
at o & @ A1 W i @ B X, Y w8, st x R gew @
A) YXZ+X (B) ZxXX+Y (C)|XXZ-Y (D) XXZ+Y
If M + N means M is the sister of N. a1 "
M — N means M is the brother of N. i
M X N means M is the daughter of N. ]
which of the following shows the relation that X is the fadternal uncle of Y, where X’s gender is male ?
(A) YXZ+X (B) ZXX+Y ( **x><z Y (D) XXZ+Y
P,QFMER SIRATEARIS, TR MR SN T, Qaﬁ’rﬁ‘?%ls Q¥ e TR weiftra & 2
(A) " st (B) == C(© (D) i

P is the brother of Q, who is the sister of R. S is the brother of T and T is the mother of Q How is S related
toQ? ;
(A) Nephew (B) Uncle ° (C) Aunt (D) Niece

If2 JUNE = 10- 21 - 14 - 5, @Y JULY =&
If JUNE — 10 - 21 - 14 - 5, then JULY will be J
(A) 10-8-23-25 (B) 10-21-12-25 (0‘3’114 12-8-10 (D) 10-21-8-23

fawd # 9gm AR A g R aﬁﬂﬁmar@ﬁ;%m%s%q 1:30 7 1 o2 1 g e Ream 1 3hc

Frawia? O

(A) IeeaRm ®) IR (CY5 afémm-afim (D) afor-gd

"For a clock with 9% hour hand pointing towards the i‘. t, the hour hand at 1:30 points towards which
direction ? '

(A) North-West (B) North-East (C) South-West (D) South-East

e PR 1 Sad, HITaR I 7T, TRaR I 78 3 &9 5 FHifeq a1 ST 8, O TG 1 36 Y6 SHifed =
ST e T |
(A) T (B) T O W (D) [

If Sunday is coded as January, Tuesday as March, Thu:sd]a"y as May, then Saturday will be coded as :
(A) August B) April (cit Wy (D) June

e ST G A A IH TR S waﬂa@nﬁﬁ@aﬁﬂﬁm@r%?

(a) ff @) (B)_ o (OfF o (D) HwE
"Clock" is related to "Time" in the same way as "Map"ﬂrelated to which of the following ?

(A) Location (B) Travel (Cg)Vehlcle ) Cartography

af wfdr 2eft S e & A e & Brer 7R I e R e @ S e @ e R, AR R
(&) drasa (B) dumH T

(C) ufrd s e i0)] ﬁ@wﬁrﬁmw

If Mani is taller than Tony but shorter than Deepak and Tony is just as tall as Mohan but taller than Gokul,
then Mohan is

(A) Shorter than Tony | B) Taller than Deepa_k
(C) Shorter than Mani a— (D) Just as tall as Mani A
111 s ) S e W
+5“A$A Ty
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107. Fefofaa § § e eI A Eavi i (0 i (e
Find the dissimilar number from the following : ' T e
16, 256, 64, 624, 1024 ;
(A) 1024 (B) 256 (C) 64 : (D) 624
108, TrefeTRaa & & sremm W Jia A : '

Find the dissimilar number from the following : . CJ

1331, 2197, 4913, 5832, 6859 %
(A) 1331 B) 2197 [‘JC) 6859 (D) 5832
109. uﬁanﬁma}m 10091@!4@@%:!&%@%%mqﬁqﬁ§ & : -
(A) T (B) If¥re Qo) = (D) AT
The renowned mathematician known for discovering the sum of the first 100 natural numbers is

(A) Gauss (B) Euclid (C) Newton (D) Pythagoras '

110, Freferlaa #8545 x 545 — 125 X 125 T AGZ H1E ?

Which of the following is the output of 545 x 545 — 125 X 125 ? B
(A) 285400 (B) 281400 (C) 287500 (D) 286500

111, A,B,CDFWH ST ETRE| A, C 3B, ﬁm%m C 3t 3 & foreeer e g St o ® | A1
Dmﬁﬁ%aaﬂt%‘? ’ {}
(A) <R ®) W @C)'qﬁw R
A, B, C and D are playing a game of Carrom. A-C and B, D are partners. D is to the left of C who is
facing east. Then D is facing : | : : ; :

(A) South (B) North EZ!IC) West - (D) East

112. ﬁmﬁmmﬁmﬁmmaﬁtmﬁﬁq%qwammﬁml
CS1%E7211@I*#@AT* #>8U>
af sferelt 37 @ W Sere R ST 2, A vt s 3 ore o vl ST 8 2
(a) 0 (B) 2 © 3 (B) ;L=
Observe the following series carefully and answer the question that follows gz eacys
CS$1%E721!@I*#@A7* #>8U> )
How many numbers are followed byanalphabet if ﬁlf second half of the series is rcversed? P L

A) 0 (B) 2 B :;;f.C) 3 ) 1

113. R 2016 F T RT3 s 3 et S 3 i _drafeg
India’s Gross Domestic Product (GDP) grew by in the quarter ending September 2016.
(A) 8.0% (B) 85% E EC) 9.0% D) 7.3% '

114. aﬁwmq&a‘m@mﬁmmﬁw% 7 @
(A) 4 T2 25 Jave ' @?B) emlsm
(C) 8fFe 20 8Fve | i (D) 2fME 30 &FE .
The light from the Sun reaches the Earth in about how much time ?
(A) 4 minutes 25 seconds '~ ' '~ (B) 6 minutes 15 seconds’
(C) 8 minutes 20 seconds * : (D) 2 minutes 30 seconds

-
SR R S S M S e mw R S e e S R S
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{15, ST TR SR A S sorret 261 WTaw e & | 7% somedt e 391 36 T ¢ ST & 2

(A) TR femen (B) FATET
© ferm (D) W T A
The Indian Constitution provides for a parliamentary system of government. This system is based on the
model of which country ?
(A) United Kingdom B) Canada
(C) Australia +£D) United States of America
116. MPCHEPI®T R 2
(&) iR Fh 89) 4Fe e
(€) Wl e wfd &D) At difereht wh
The full form of MPC is ®

(A) Money Policy Committee
(C) Monetary Pricc Committee
117. a7 e g et wafta & 2
(A) I F fREr
(€) NgTFfam
The book Vinaya Pitaka is related to :
(A) Thoughts of Zoroaster
(C) Rules of the Buddhist Sangha
118. GDP 21 Y omr Ikt F4 & forg A=
(A) T ™
(C) wwelta wfenqfar A fafrr =i (SEBI)

®@B) Making Price Committee
(D) Monetary Policy Committee

(B) WeTeR ¥ Iw
(D) e ST

(IB) Preachings of Mahavira
D) Sanskrit Grammar

e 2

B) U wiflegsht HrRTe™ (NSO)
«(D) Wt fiwrel i (RBI)

Which Indian organization is responsible for calcul@ng and releasing the GDP data ?

(A) Ministry of Finance

(B) National Statistical Office (NSO)

(C) Securities and Exchange Board of India (SEBI) (D) Reserve Bank of India (RBI)
119. FH-91 &6 EH TS I “FHTE U3 afeme e & e aRg 2 2

(A) forrdeea (B) wHIEa

(C) WERIA@EE (D) st AEiE

Which Russian author is famous for writing the psychological novel “Crime and Punishment” ?

(A) Leo Tolstoy
120. TRNEH THAH FTL 2

(A) FrHig (B) H&He
What is the capital of Laos ?
(A) Kathmandu (B) Muscat

(B) Anton Chekhov

(C) Fyodor Dostoevsky (D) Vladimir Nabokov

% ;
EIC) Siky (D) frmfoam
Q0C) Lima (D) Vientiane

121. m.mm@ﬁwmmw%ﬁ&rﬂm%?

(A) foa=mmdTET (WT0)
(©) wiia foer 5= (BIS)

@) siwisfa gz (IMF)

(D) Fadw

Which organization is responsible for smooth and predictable trading across the nations ?

(A) World Trade Organization (WTO)

(C) Bank for International Settlements (BIS)

(B) International Monetary Fund (IMF)
(D) World Bank
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T 3 AR B W Shegd € 2

122.
What is the GST rate on mobile phones in India ?
(A) 5% (@ 12% €) 18% (D) 0%
123, N ofteg & frt v € 2 O
How many members are there in GST Council 2
(A) 30 (B) 33 & © 40 (©) 25
124, TR 6T TEAT ORI 2 8
(A) U ST &1 939 & «» (B) migq'[
(C) e i g T S © iwwndm
What is the first step of research ?
(A) Selecting a problem (B) Finding a problem
(C) Identifying a problem (D) Searching a problem
s, BTIFMIAFAFFORTERFR_ wem
(A) o AR @B) fase i (©) Frht e (D) W& ARER
All human rights of a person below the age of l@cars are known as ‘
(A) Child Rights (B) Special Rights 3% (C) Legal Rights (D) Human Rights
6. e Rieé F g A oft 2 S '
(A) W= 2004 (B) FFHI2004 (O (C) ai2006 (D) T 2002
" When was Micro Irrigation launched ? g
(A) March 2004 (B) January 2004 ® (C) January 2006 (D) March 2002
127, B Hifear o G Fan e g 2
&) IR (B) TR fm (C) o g (D) TR I4F TH
What does the acronym “TBT’ stand for on social media ?
(A) True Blue Tuesday (B) Today’s Best Thing (C) Throwback Thursday (D) Text Back Time
128. CRISPR-Cas9 Steiifiveht &1 39 36 fore frm sman 8«
(A) SH % E g B) ¢ amfiri Ft @A
(©) Y I T ST o (D) IAF A
The CRISPR-Cas9 technology isused for:  [T]
(A) Editing genes (O (B) Synthesizing new materials
(C) Detecting earthquakes 8 (D) Creating vaccines
19, wfmagg faw 2024’ F R (fm w2 @
(A) ifersg =t et T : e e (B) Haa frfm
© it fiftr & for 7€ enfiferat (D) frfe & aga
What is the theme of ‘National Maritime Day 2024° ?
(A) Navigating the Future : Safety First (B) Sustainable Shipping
(C) New technologies for greener shipping (D) Amrit Kaal in shipping
s LT e e S .
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(30, e-doT (e FRrTRO) W T SR e e @ 2

(A) TaTEFAS R O

®) wﬂmcﬁmﬁﬂmﬂaﬂrMﬁmmwm%m
(©)  3iftm e G & fo {3}

(D) WA RS FA & g []

What is the main goal of a pre-trial conference E,-))

(A) To conduct jury selection @)

(B) To prepare for trial and discuss settlemen(@ptions
(C) To render a final verdict
(D) To dismiss the case

131. _____mm‘ﬁﬁaﬁﬁﬁmmaﬂﬁ%m%wﬂmﬂqﬁ,maﬁm
w0 1 feft 37T TR & THRAE T FTFR |
() TR (B) W& HI (©) WRzwd dramdt (D) W

is the. act of intimidating, hamssmgr]t, defaming, or any other form of mental degradation
through the use of electronic means or modes s% as social media.
(A) Cryptojacking  (B) Identity theft [] (© Creditcard fraud (D) Cyberbullying

132. mﬁmmﬁﬁmﬁﬁw@mmmﬁwm%?
(A) & T AR G Al F A S A @gET S |
(B) mmmsﬂtmﬁfmﬁmaﬂ@amh
(©) =&t s vt i Freifm s @ |
(D) ot A AHRat F feeenfia sard )

What is the role of artificial intelligence (AI) in shaping future global economies ?
(A) It widens the gap between skilled and unskilled workers.

(B) Itdrives innovation, productivity and ecozﬁmic growth.

(C) It regulates global economic slowdown. +

(D) Itreplaces all human jobs. {r
133. mﬁmm%mﬁmww%mm .
A) ar (B) aRSA 7 (C) ERER (D) =T
The first successful instance of Satyagraha led g) Mahatma Gandhi in India was :
(A) Kheda (B) Bardoli (C) Abmedabad (D) Champaran
134. N SISt Aidter frgs s e frarmr a2
(A) fr figm (B) Sferaiarar am THeR
©) Rt (D) HTERA FHYH
The Quit India Movement was launched in response to :
(A) The Cripps Mission (B) The Jallianwala Bagh massacre
o (©) The Rowlatt Act (D) The Simon Commission
R i m i acoms e et
£ Page 20 of 24
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135 mfﬁmmaﬁqmaﬂﬁzwnﬁf%maﬂtww% &, Wi st 3 wftard 5 et
(A) 2 (B) ¥IwR3 (€) ¥R 4 (D) g% 1
Which Article of the Indian Constitution provides for the formation of new states and alteration of areas,
boundaries or names of existing states ?

(A) Article2 (B) Aricle3 (©) Aicle 4 (D) Article 1
y36. o oY Gl vz et o s i & okt o o & T FAARE |
(A) ®) w () T (D) ¥

Rabi crops are sown in winter from Oc{ober to December and harvested in summer from April to

; L]
(A) June (B) May 0) (C) July (D) August

137, R 3 TSI AT TS S S R 2
(A) i e ot fmeet e
®) fardra s =t fafrafia e
(€) rdwar-faddt st srewor-fatieft fivar =@
(D) ATYET TR FTAT T Feu FAT

What is the purpose of the National Security Guard in India ?
(A) To oversee border security

(B) To regulate the financial market

(C) To conduct counter-terrorism and anti-hijacking operations
(D) To manage disaster relief operations ;.

138, frferfae 3 & 2-a1 e g v & sndia & o frer 2 2
(A) FTRIRSATES B) WA [ (C) TN (D) T HHTES
Which of the following substances is primarily responsible for acid rain ?
(A) Sulphurdioxide (B) Methane 2 (C) Nitrogen gas (D) Carbon monoxide
139, TR 39 T el 1 N T R T T £ 2

2@s

() o ® s @ () Rmawhwm @O W

Which country is the world’s largest producer of wind power ?

(A) Germany (B) Bhutan (C) South Africa (D) China
140, WIRE % ITIGRT I § (S 2024 TF) 2

(A) it 9. Tt s (B) ftum IFAIEG

(C) ft iz v (D) AR TGS

Who is the Vice President of India (as of June 2024) ?

(A) Sh. M. Hamid Ansari U (B) Shri M. Venkaiah Naidu

(C) Shri Dharmendra Pradhan ki (D) Shri Jagdeep Dhankhar

141, 2016 3 geTafd STG-S9 AT, GHI] e 1 S T8 2
(A) REW] Fsit 3 AT R Afeaer L]
(B) 'WHIV-Nh & it T @]
(C) ] BRmERT 1 g fe b
(D) 3réfras vy 3t et geariareor 3 eedT At A wedm
What is the purpose of the Indo-Japan civil nuclear agreement signed in 2016 ?
(A) Ban on nuclear energy usage
(B) Establishment of a nuclear-free zone
(C) Joint development of nuclear weapons
(D) Cooperation in civilian nuclear energy, technology transfer and safety standards
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142, forEl & 5 Siet S AT At < ST ¥ TR -

(A) IR (B) S (€) REEa (D) W™
Movement of people in and out of an area is called : ——
(A) Death rate (B) Birth rate (C) Growth rate (D) Migration

143. elg e fyafiaer (AMU) i e v af £ o 2
In which year was Aligarh Muslim University (AMU) sct up ?

(A) 1877 (B) 1875 (C) 1901 (D) 1920
144, ITNN 1 HH-T1 T e 3w siraradt 3 Fdhosren anret reafores w6 fog S S & 2
(A) = () W (© S (D) TS

Which city in Uttar Pradesh is known for its cducationginstilutions specializing in Hindi and Sanskri

languages ?
(A) Varanasi (B) Prayagraj (©) ganpur (D) Lucknow
145. m-mmmmmmwmﬁmégmmw%aﬂtm 1998 & anfefe fagm §
T TR TR 7T 41 2 @
(A) FEMWER  (B) #HeA Rig (C) T T (D) Wi &7

Which Indian economist is known for his work on welfare economics and received the Nobel Prize in
Economic Sciences in 1998 ?

(A) Jagdish Bhagwati (B) Manmohan Singh (C) Raghuram Rajan (D) Amartya Sen
146, S 3T foFm e A foreht 2

(A) ufiel (B) <l uferre - (C) gﬂ;ﬂ% (D) Weie s
Which author wrote “Jane Eyre” ? HH
(A) Emily Bronte (B) George Eliot (C) {Anne Bronte (D) Charlotte Bronte
147. R TG AR EE R | [
(A) = ®) * © e (D) THTHTE
Twitter is a based communication platform. @)\
(A) Email (B) Chat ©) @1p (D) SMS
148, R ferqera 2t form < 3wy W a8 2
(A) = (B) uIfFH (C) wirawRw (D) AT
India shares the Lipulekh Pass with which country ?
(A) China (B) Pakistan (C) Bangladesh (D) Nepal
149, Fgor e 3§ P T w1 SwE R SR 2
(A) W ®) fifie ©) %m ®)
Which currency is in use in South Korea ? &
(A) Won (B) Ringgit (C) [Yuan (D) Yen
150, m%ﬂm%m#@ﬁmmﬁa&%mﬁmam?l
(A) TEIT (B) WA (©) @i (D) TR
attack is where a computer system or network® infected with a computer virus.
(A) Hardware (B) Malware (C) Phishing (D) Software
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